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141
619
403
242
343
123
133
95
86
447
381
31
28
36
90

12

122
33
13
13
24

462
28

132
78
43
22
22

415
546
61
312
432
213
65

VS
Mg
At =
(1022)
157
155
177
198
179
156
505
517
192
331
139
151
98
111
444
371
39
33
37
88
10
10
6
114
34
15
14
24
458
35
129
74
45
26
25
12
408
543
72
313
416
213
80

o[
%
46.4
421
4.7
60.1
54.5
47.0
289
46.9
45.9
451
50.1
43.6
374
41.6
58.0
91.9
3.6
51.1
2.9
7.5
26.5
65.5
29.2
22.2
1.7
2.3
4.4
24.6
15.8
96.8
6.5
14
5.8
2.0
10.1
11.8
6.5
24
83.6
15.7
20.0
495
84.8
31.9

oy
Ho
4

22.0
25.1
18.8
14.9
23.3
254
24.8
21.8
22.3
20.1
23.3
20.5
235
29.6
15.1
1.1
53.0
4.6
10.7
22.0
11.5

16.2
25.7
94.9
441
12.9
13.0
14.0
0.5
45
49.6
7.8
28.6
3.9
4.2
26.5
50.6
1.9
11.9
40.2
16.9
2.8
28.7

11.5
71.6

5.7

17.7

31.9

27.7
0.4
68.8
1.8
1.1
7.5
2.1

2.2
5.6
9.8
4.6
6.8
1.8

16.6
13.8
17.5
12.8
15.1
16.8
24.6
16.7
16.5
20.1
17.0
16.1
17.3
13.1
12.2
4.1

28.7
4.4

43

51.5
25.8

29.3
52.0

322
259
41.9
23.5
0.8

36.1
63.4
39.3
58.0
19.2
22.1
29.9
5.2
27.6
23.0
18.0
8.0
7.2

aict
%
7.6
8.4
14.1
6.6
3.7
53
9.5
5.0
10.2
9.1
2.6
13.7
9.0
9.5
8.8
15
8.2
24.2
10.5
191
22.1
15.8
7.6

1.0
134
17.0

14.7
0.7
20.2
9.7
13.0
15.5
22.4
64.8
304
9.9
3.0
29.9
8.9
6.3
2.4
23.5

18.7

2.3
8.1
8.0
20.6
4.2
0.8

14
89
7.2
35

14.6
5.0
0.8
5.0
33
2.5
0.2
8.6



6. FISPHM = 2o Chg 22 S0| LHEY 2 =78 XNASHAAEL e E2 28 0|9 4L Tt

ZAM 7v5a 7Hai A2
248 alg | O|xHH LZ O|=N J|EtZH gict THE
A 3= A %= | % % % % % %
HA| (1022) (1022) 46.6 147 5.4 22.9 7.9 2.6
18All O] A20CHK 110 157 42.2 16.3 9.7 21.5 9.5 0.8
30CH 122 155 438 11.5 7.2 21.1 9.8 6.5
e 4ocy 163 177 58.8 15.5 73 12.8 47 0.9
=< 50CH 252 198 54.5 12.2 1.7 22.8 7.8 1.0
60LH 234 179 46.1 1.7 2.2 30.2 6.0 3.8
70M0] & 141 156 30.0 21.7 5.8 29.0 10.2 3.2
M =2 619 505 46.0 13.5 5.8 245 9.0 1.2
° ofd 403 517 485 12.9 6.5 23.9 6.7 15
M2 242 192 46.0 17.5 46 16.7 12.1 3.2
471/91H 343 331 35.9 193 7.4 24.8 10.1 2.6
x| tHE/S8/ME /&8 123 139 42.7 19.0 1.5 26.5 76 2.7
| 228G 133 151 60.4 8.3 3.4 19.2 14 73
| /ae 95 98 477 145 7.2 23.1 5.0 23
HE/dF/H=/MF 86 111 454 14.8 36 22.6 10.7 2.9
H=02FY 447 444 91.6 1.6 2.0 3.5 1.1 0.1
=Z0/o| &l 381 371 3.7 32.7 2.5 46.7 11.2 33
X|X|Bp= =YY 31 39 51.0 109 10.1 37 73 169
e IhE A 28 33 9.6 5.9 76.4 43 3.7 .
°° 7|EpE g 36 37 6.9 13.0 - 465 293 43
XNREE A= 90 88 29.7 12.2 6.8 27.1 19.7 4.4
2 OE 9 10 40.0 - 19.0 6.5 15.8 18.7
28 12 10 29.2 7.8 12.2 424 8.3 -
252 9 6 48.6 - - 51.4 = 5
UEF 122 114 - 33.1 2.4 49.4 10.1 5.0
LIZ ¥ 33 34 2.3 916 = 43 1.8 -
QHE o~ 13 15 - - 36.7 30.3 33.1 -
NE 13 14 6.1 13.2 - 65.6 15.1 -
. el 24 24 16.9 10.6 27.7 383 6.4 -
O s E Ol 462 458 98.2 14 0.1 02 - 0.1
o|=Y 28 35 3.6 1.7 76.2 - - 18.5
SHE == 132 129 2.7 31.7 3.8 436 14.1 4.1
Ll 78 74 1.9 9.8 35 66.6 11.9 6.2
2=H 43 45 7.6 34.2 7.2 40.0 11.0 =
J|EtE R 22 26 10.1 3.9 3.9 52.4 26.2 35
gict 22 25 40 5.1 - 27.9 57.4 5.6
S = 9 12 6.5 26.5 - 6.5 46.0 14.6
HAHRK 415 408 1.9 33.8 3.9 45.1 11.5 40
21CH oM &4 ESEoimb| 546 543 84.8 1.8 5.5 5.0 2.8 0.2
S = 61 72 11.5 3.4 14.0 31.9 25.9 13.2
EES 312 313 21.2 28.2 5.5 31.5 10.7 2.9
K| At sc 432 416 50.6 11.0 6.8 22.7 7.7 13
NI 213 213 83.9 3.7 1.7 76 2.7 0.5

r o= 65 80 25.5 10.4 7.8 30.4 11.7 14.1



7. FIOPHM = Tk OHE 2 ES0| L&Y E2 +1E XA AEUI=E2 2H 0|3 &L Lt

ZAM Vs MM A3
248 alg | o|xH ObH o= o|EAM J|EfZ & gict EnE
A 3= A %= | % % % % % %
A (1022) (1022) 46.5 8.4 4.7 27.3 11.0 2.2
18All O] A20CHK 110 157 41.9 15.5 9.3 19.8 11.2 2.3
30CH 122 155 40.8 8.4 5.4 25.4 14.9 5.1
o1 4ocy 163 177 60.0 1.7 5.3 16.0 7.1 -
= 50CH 252 198 54.9 5.4 2.6 28.6 8.5 -
60LH 234 179 44.8 4.0 2.3 36.2 1.2 1.5
70A0] & 141 156 32.4 6.5 3.9 37.6 14.2 5.4
M =24 619 505 46.2 10.2 3.9 29.9 8.3 1.5
° ol 403 517 49.1 8.6 4.7 26.1 9.9 15
M2 242 192 43.9 12.4 3.8 26.0 1.5 2.4
47|/21H 343 331 35.8 6.0 8.1 31.6 17.2 1.4
x| HH/S8/ME/8d 123 139 43.4 6.1 3.1 29.2 15.3 2.9
| HAS A/ 133 151 59.7 4.8 3.4 20.5 5.7 5.8
| /4= 95 98 46.8 8.9 6.9 28.1 7.4 1.9
HE/dF/H=/MF 86 111 46.2 7.8 2.4 26.5 14.5 2.5
EEGIEIESSY 447 444 92.3 1.6 1.2 3.7 0.9 0.3
=Z0/o| &l 381 371 2.7 15.4 2.6 58.0 19.0 2.3
X|X|Bp= ZE=get M E 31 39 50.2 7.8 1.7 8.7 4.7 16.9
xCh g 28 33 9.6 2.2 74.2 10.3 3.7 -
°° 7|EpE g 36 37 7.5 7.8 = 52.0 32.7 -
XNREE A= 90 88 29.1 11.9 3.8 24.2 25.3 5.6
2 OE 9 10 44.9 41.2 - - - 13.9
HY= 12 10 29.2 6.0 - 52.6 12.2 -
ARSTS 9 6 48.6 17.2 - 34.2 - —
HEST 122 114 0.4 10.5 1.2 62.6 20.6 4.8
L4 33 34 2.3 3.1 - 62.6 32.0 -
Qh&l =~ 13 15 7.3 79.8 12.9 - - -
M= 13 14 29.8 8.4 - 58.2 3.7 -
- F50 24 24 13.7 15.9 30.9 31.3 8.2 =
O s E Ol 462 458 97.9 0.5 0.4 0.6 0.4 0.3
O|FEA 28 35 3.6 - 76.2 1.7 - 18.5
SHE = 132 129 1.1 13.7 3.6 55.3 22.7 3.7
ots2 78 74 0.7 12.0 2.5 69.5 12.8 2.5
ST 43 45 2.0 39.4 3.9 40.1 14.6 -
J|EtE R 22 26 10.1 15.2 - 45.0 26.2 3.5
oict 22 25 11.8 5.1 - 23.4 59.8 -
o2 9 12 6.5 18.3 - 18.0 42.6 14.6
HAHRK 415 408 1.3 14.6 3.4 57.4 21.0 2.2
21CH oM &4 HE A 546 543 85.0 2.8 5.2 5.1 1.7 0.2
= 61 72 11.9 15.3 7.8 24.0 23.8 17.1
H= 312 313 20.7 10.3 5.1 44.0 17.9 2.1
K| A5t zc 432 416 50.7 10.1 5.2 24.7 8.8 0.4
e 213 213 83.1 1.8 2.9 7.6 4.0 0.6

2EE 65 80 28.2 9.3 4.7 27.9 13.7 16.2



8. TIoPHAM = THef tHE 22 50| LEe &

F TS AXISHA|

re
ol

X X|St=
X C}
o o

21T} T4 A

A

18M| O &t20CH
30CH
40CH
50CH
60CH
70| 0| A
=]
oM
MNE
471/00H
/S8 /ME/Z
BAbga/A8 s
/4=
M/ =/HM=

Heot=g

J|Et= &
i)
2RE
FHFA
LA
2RE
e
s
e

X =
2 EE

= A
otz
At =
(1022)
110
122
163
252
234
141
619
403
242
343
123
133
95
86
447
381
31
28
36
90
9
12
9
122
33
13
13
24
462
28
132
78
43
22
22
9
415
546
61
312
432
213
65

A= 32 2H0[

52
Mg
At =
(1022)
157
155
177
198
179
156
505
517
192
331
139
151
98
111
444
371
39
33
37
88
10
10
6
114
34
15
14
24
458
35
129
74
45
26
25
12
408
543
72
313
416
213
80

o[
%
45.8
39.8
41.8
59.4
53.9
44 .4
31.5
45.1
48.9
43.7
34.7
40.9
59.7
46.4
45.2
89.9
4.0
57.0
9.6
7.5
28.7
13.5
29.2
38.7
3.6
2.3
12.9
9.5
22.7
95.7
3.6
2.3

2.0
10.1
7.2
6.5
2.3
82.3
16.9
19.3
49.8
82.4
31.7

ol
=

L CF.

M=
%
10.4
13.6
7.0
10.5
8.3
9.8
14.7
6.6
12.6
12.7
11.8
10.3
6.0
10.6
10.3
2.5
19.9
8.7
11.3
6.7
11.5
19.0

18.3
7.8
15.6
82.3
27.2
1.2
5.0
19.4
12.7
31.9
7.8
9.6
18.3
20.0
4.3
2.8
15.0
10.2
2.3
15.6

31.9
3.7
31.3
1.1
71.1
1.3
3.4
15.8

41
6.1
12.83
5.7
7.7
2.7
3.2

53.1
19.6
25.4
52.6
51.4
57.9
56.6
20.9
4.6
18.8
1.3
1.7
50.0
69.2
39.4
52.4
17.4
18.0
52.6
4.9
28.6
38.4
241
9.1
27.4

atct
%
10.5
12.0
13.7
9.8
8.9
9.7
9.9
11.2
8.9
11.0
15.3
12.4
5.5
8.1
12.9
1.1
17.6
1.5
3.7
32.7
24.7
15.8
6.0

17.9
31.0
18.8

0.3

24.7
12.5
10.9
26.2
56.1
42.6
19.2
1.9
26.7
20.1
7.7
3.2
7.2

o = =N =
© = N O O

16.9

5.6
26.3

18.5
2.3
2.2

3.5
9.6
14.6
1.8
0.5
12.7
1.4
0.6
0.2
14.9



9. FISPHM = Tk CHE 2 S0| L&Y E2 =715 XA AEUI=H2 2H 0| d L L

ZAM Vs i
248 alg | o|xH 54 o|EAM J|EfZ & gict EnE
A 3= A %= | % % % % % %
A (1022) (1022) 46.8 7.2 5.1 27.7 11.6 1.6
18A| O|-&20CH 110 157 43.5 13.7 8.7 19.7 13.7 0.7
30CH 122 155 43.5 6.6 8.9 271 12.5 1.4
o1y 4ocy 163 177 58.2 9.1 5.0 18.1 8.5 1.1
= 50CH 252 198 54.5 4.9 3.1 26.3 10.8 0.3
60LH 234 179 44 1 5.9 2.5 34.9 10.1 2.4
70A0] & 141 156 33.2 3.5 3.6 40.8 14.8 41
M =24 619 505 45.8 8.1 6.0 29.4 9.6 1.0
° ofd 403 517 50.7 8.7 4.5 22.7 11.8 1.6
M2 242 192 46.0 4.4 5.1 31.3 10.9 2.4
47|/21H 343 331 35.4 6.7 6.6 29.6 18.9 2.8
x| HH/S8/ME/8d 123 139 41.6 7.0 5.0 30.7 13.9 1.8
| HAS A/ 133 151 57.4 5.5 3.4 30.1 3.5 -
| /4= 95 98 46.2 10.0 7.1 26.7 8.1 1.9
M/ =/HM= 86 111 47.3 4.4 3.2 28.7 15.0 1.4
HE02Fg 447 444 93.0 2.2 1.5 2.6 0.7 =
=He = 381 371 3.1 9.7 4.4 60.2 21.3 1.4
X|X|Bhe =g 31 39 56.4 5.2 6.9 241 1.5 5.8
HEh Al 28 33 11.4 24.2 60.1 4.3 - -
°° 7|EpE gt 36 37 7.5 7.0 1.6 61.9 21.9 -
XNREE = 90 88 24.7 16.4 6.8 16.8 29.3 6.0
2 E2E 9 10 38.9 7.6 - - 15.8 37.7
4y 12 10 29.2 26.0 - 38.7 6.0 -
2= 9 6 41.3 24.2 - 34.5 - =
UES 122 114 1.7 6.0 1.0 69.1 20.0 2.2
L& 33 34 41 2.3 - 59.3 34.3 -
QHE o= 13 15 17.2 22.9 24.6 16.5 18.8 -
M= 13 14 29.8 - - 70.2 - -
e w5 24 24 18.1 75.6 3.2 3.2 = -
)il EdsE olT Y 462 458 96.8 1.3 0.6 0.6 0.2 0.5
o oT
O|&A 28 35 5.3 2.2 72.3 20.2 = -
SHE == 132 129 1.1 14.3 2.9 51.3 28.3 2.0
sts=2 78 74 - 3.7 7.4 67.9 17.3 3.8
=FH 43 45 4.7 16.6 17.5 41.4 19.7 -
7|Ets & 22 26 12.2 11.7 - 61.9 10.7 3.5
ATk 22 25 19.1 6.7 4.5 13.6 53.8 2.2
AQE 9 12 6.5 - - 11.5 42.6 39.4
HHRK 415 408 2.3 9.3 5.2 57.8 23.8 1.6
21CH oM &4 by | 546 543 84.5 5.3 4.8 3.3 1.2 1.0
= 61 72 14.0 9.5 6.9 41.9 21.0 6.7
H= 312 313 20.0 6.8 6.1 43.1 22.3 1.7
K| A5 zc 432 416 50.9 10.8 6.0 23.7 7.6 1.1
e 213 213 83.7 2.0 2.3 8.1 3.7 0.2

T EE 65 80 31.7 4.2 3.7 40.7 11.6 8.1



10. HOPAIM = T O F 2 H 50| A 22 +1& XX[SHA AU H2 2H|0|H LTt

ZAM Vs 7H& i He
248 alg | o|xH StEE o|EAM J|EfZ & gict EnE
A 3= A %= | % % % % % %
A (1022) (1022) 47.2 14.6 5.6 20.2 11.3 1.2
18A| O|-&20CH 110 157 42.8 12.1 12.4 17.8 14.0 1.0
30CH 122 155 44.7 12.8 5.2 18.5 17.4 1.4
o123 4ocy 163 177 60.6 11.4 5.7 111 11.2 —
=e 50CH 252 198 54.3 11.0 2.4 23.4 7.7 1.2
60LH 234 179 45.6 21.6 2.4 21.5 7.6 1.3
70A0] & 141 156 31.5 18.8 6.9 29.1 11.5 2.1
M =24 619 505 46.3 15.3 7.0 20.4 9.5 1.4
° ofd 403 517 51.1 13.3 6.3 18.5 9.9 0.9
M2 242 192 45.9 12.3 3.2 23.6 12.3 2.7
47|/21H 343 331 36.2 20.6 6.2 19.9 16.8 0.4
x| HH/S8/ME/8d 123 139 41.5 20.8 3.4 23.2 9.2 1.9
| HAS A/ 133 151 58.6 6.1 5.3 18.7 1.3 -
| /4= 95 98 47.0 14.3 7.8 222 8.0 0.8
M/ =/HM= 86 111 47.4 14.8 3.5 18.3 14.5 1.5
EEGIEIESSY 447 444 93.0 1.8 1.0 3.0 0.9 0.3
=Z0/o| &l 381 371 2.9 29.9 4.1 43.2 18.7 1.2
X|X|Bp= =YY 31 39 52.4 1.2 6.9 5.2 18.4 5.8
xCh g 28 33 9.6 2.4 74.0 10.3 3.7 -
°° 7|EpE g 36 37 1.9 11.8 1.6 46.2 28.4 -
XNREE A= 90 88 30.0 23.4 9.0 11.5 24.2 2.0
2 OE 9 10 40.0 - 19.0 6.5 15.8 18.7
HY= 12 10 29.2 5.5 - 59.3 6.0 -
ZA=C 9 6 48.6 7.9 - 43.5 - -
UEF 122 114 1.7 7.9 4.6 63.3 21.2 1.2
L4 33 34 2.3 8.1 - 55.1 34.5 -
QHE o~ 13 15 12.9 36.2 17.4 22.8 10.7 -
M= 13 14 26.4 27.8 - 45.8 = —
- sl 24 24 19.5 20.1 33.4 23.8 3.2 =
O s E Ol 462 458 97.0 1.3 0.9 0.5 - 0.3
O|FEA 28 35 3.6 2.2 73.9 1.7 18.5 —
SHE = 132 129 1.1 22.6 2.6 422 28.3 3.2
ots2 78 74 - 97.0 2.2 0.8 - -
=8 43 45 7.8 20.9 13.3 35.3 22.6 -
7|EtS 22 26 18.6 7.8 - 47.7 22.4 3.5
ATk 22 25 25.5 12.7 - 13.6 48.2 -
2RE 9 12 6.5 - - 18.0 42.6 32.9
HAHRK 415 408 1.8 29.4 4.6 427 20.0 1.5
21CH CiM d4 ESEoimb| 546 543 85.1 3.1 5.1 3.9 2.0 0.8
= 61 72 18.0 17.0 15.1 15.7 31.7 2.5
Hz 312 313 20.5 20.3 6.3 32.1 19.8 0.9
K| A5t sc 432 416 51.3 15.7 7.4 18.0 7.1 0.6
NI 213 213 83.6 4.7 1.7 5.6 3.4 0.9

(Seg= 65 80 33.1 12.4 3.7 24.5 20.7 5.6



1. HOPAM = T O F 2EHS0| g 22 +7& XX[SHA AU H2 2H| 0| E LTt

ZAM Vs M A7
%42 X I ol EEE olEH I|Et R 8lct ¥ RE
A 3= A %= | % % % % % %
A (1022) (1022) 46.4 16.8 5.7 20.2 9.1 1.9
18A| O|-&20CH 110 157 40.1 23.2 9.8 18.3 6.4 2.2
30CH 122 155 42.7 16.6 8.5 16.0 111 5.1
o1y 4ocy 163 177 59.0 18.6 4.1 10.0 8.2 -
= 50CH 252 198 53.9 15.6 3.6 17.4 9.1 0.4
60LH 234 179 46.6 14.6 1.9 27.3 7.7 1.8
70A0] & 141 156 32.2 12.4 7.8 33.0 12.2 2.4
M =2 619 505 45.8 16.6 4.0 25.0 8.2 0.5
° ofd 403 517 48.6 17.4 5.3 18.9 9.3 0.6
M2 242 192 44 4 22.9 7.3 16.2 6.6 2.7
47|/21H 343 331 37.5 19.1 8.2 17.6 14.8 2.8
x| tHE/S8/ME /&8 123 139 43.0 14.8 6.8 24.3 10.2 0.8
| HAS A/ 133 151 58.9 6.2 3.4 20.6 4.3 6.6
| /4= 95 98 47.5 19.3 7.1 18.4 6.7 1.0
M/ =/HM= 86 111 454 14.3 4.3 21.9 11.4 2.7
EEGIEIESSY 447 444 90.9 3.3 2.4 2.4 0.8 0.2
=.8lo| 5] 381 371 3.8 35.7 2.4 42 .4 14.9 0.9
o ZE=get M E 31 39 57.2 4.1 10.1 4.4 1.5 22.7
X|X|5t= =
X Tt g 28 33 2.9 10.4 76.9 6.1 3.7 -
°° 7EpE Y 36 37 7.5 17.6 - 42.2 32.7 -
NA8E els 90 88 29.5 13.6 10.3 20.7 21.1 4.8
2 OE 9 10 51.4 4.9 - 6.5 15.8 21.5
HY= 12 10 29.2 13.3 12.2 39.2 6.0 -
ZA=C 9 6 48.6 - - 51.4 - -
UEF 122 114 5.7 33.9 1.7 449 13.8 -
L4 33 34 2.3 25.8 - 55.9 16.0 -
QHE o~ 13 15 4.7 23.4 17.5 25.6 28.8 -
M= 13 14 26.4 27.8 3.4 42 .4 = —
- 75l 24 24 13.9 37.0 30.2 1.7 7.2 -
O s E |z 462 458 95.4 1.2 2.2 0.7 0.2 0.4
O|FEA 28 35 3.6 5.9 70.3 1.6 - 18.5
SHE = 132 129 1.1 35.3 1.6 37.7 22.4 1.9
ots2 78 74 2.9 9.7 6.2 62.9 16.5 1.8
2=H 43 45 2.0 90.4 3.3 4.3 - —
J|EtE R 22 26 12.2 14.2 - 43.9 26.2 3.5
ACH 22 25 25.5 2.0 5.6 13.6 51.1 2.2
o2 9 12 6.5 1.5 - 6.5 27.0 48.5
HAHRK 415 408 2.1 35.1 4.7 41.0 16.3 0.9
21CH CiM d4 ESEoimb| 546 543 84.2 4.0 5.8 3.7 1.4 0.9
S = 61 72 13.0 8.9 10.6 26.7 26.3 14.6
H 312 313 18.6 25.8 7.5 30.2 17.1 0.8
K| A5t sc 432 416 51.0 15.8 6.1 19.3 6.5 1.3
NI 213 213 84.3 4.7 1.5 6.7 2.8

s 65 80 30.8 18.4 7.4 21.4 7.8 141



12. FBPHIA &= T a2t

% o| A0 o S2foh L7(ZH| 0| 4)
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